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Solution of nght Triangles
b

a b ¢
1 in=%,cos=~,tan= & ,sec = 2, cosec = <
rﬁ"rMeA sin ==, ¢ = B+ Cot =, sec » cosec = —

b
Given Required

a b A, B 'tlnA=%=cotB,c-\/a5+5‘=a\/l+F

e b

A, B, b ninA=:-==cosB,b=\/(c+a)Za—‘a)=c\/l—;—";-
B & c B=90°—A,b =acotd, o= .a

sin 4.

B oa c B=90°—A4,a =hbitan A, c= L oo

cos A.

B g b B=90°—A4,a =csind,b=ccos A,

Solution of Oblique Triangles
Required asin B A
b e C b--:nA,(f—ISO-w(A-}‘B).c
B,o, ¢ | sinB= L R B), 6= —02
a sin

4, B c| A+B=180°—C,tan ;(A---By:"‘—“ﬂ%'—““—ﬁ’,
( _asin€ e

sin A4

'=a+!;+°.linid=\/ A

3—0C
be :

.inw=\,'(-"—“a—— ii'c“",c'=180°—(.4+m
:“——;‘ﬁ, area = v/ ais—ai (J—Zi Z!—Ci

besin 4

“

area =

2sin A

REDUCTION 'TO HORIZONTAL

Horizontal distance = Slope distance multiplied by the
cosine of the vemcllanzle Thus: slope distance =319. 4 ft.
Vert. angle =5° 10. From Table, Page lx cos 5°10'=
.9959. Horizontal distance =319.4X.9950=2318.00 ft.
Horizontal distance also = Slope dlsunce minus siope
- distance times (1—cosine of vertical angle). With the
: nce Ing Result 1 obtained: Costas S¢ 1y oug8. 1 We0 Gort
Horizontal ng result is o ned. Cosine / =, =
o 319.4XC.0041=1.31. 319.4—1.31 =318.08 ft.
When the rise js known, the horizontal distance is approximately:—the slope dist-
wnee less the square of the rise divided by twice the slope distance. Thus: rise=14 ft.,

olou distance=1302.6 ft. Horizontal distance=302.6— 3 :( ‘;&1‘ =302.6—0.32- 302.28 t.

area =
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